Year 2 Homework Answer

Module 16: Australian coins and notes

f) 45c or $0.45

1.
a) $40
b) $180
c) $3.6 or 3 dollars 60 cents
d) $1.55 or 1 dollar 55 cents
2.
$10; $5; $1; $1
3.
394 cents 177 cents 431 cents 356 cents
333 cents 251 cents 213 cents 103 cents
369 cents 304 cents 424 cents 97 cents
4.
$1.53 $4.28 $3.92 $3.72
$5.63 $2.90 $8.27 $5.26
$4.83 $3.00 $2.07 $4.07
5.
a) $3.50
b) $6.50
c) $10.35
d) $654.05
e) $903.10




10.

$13

$8.5

$7.10

$10.50

$17

$1

$5.30

$5.40

$10

$38

$1.10

$23.80

a)2;1

b) 2
€)2;2;1;1
d)3
e)3;1;2

a) 5.20 + 2.20 = $7.40
b) 7.20 + 3.80 = $11

c)

d) 5.20 + 2.70 = $7.90

25+55=%8
10-8=$%2

25+18.50-5
=20+ 18.50
=$38.50




11.

12.

13.

14.

15.

16.

17.

5mug:25+25+25+25+25
=5+5+25
=$125
2 bags of coffee beans: 25 + 25 = 50
Total: $62.5

80 x 5 = 400 cents = $4

Yes he does

24 = 6 =4 hours

10 x 4 = $40

480 -+ 8 = $60/payment

45 + 4090 + 20 = $4155

525+4.75+75=10+75=$175
20-175=%25

36-4=%9



